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Note : First 15 minutes arc allotted for the candidates to read the question
paper. :
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Instruction :

ij  All questions are compulsory. Marks allotted to each question are
given in the margin. ' '

ii) In numerical questions, give all the steps of calculation.
ii) Give relevant answers to the questions.

iv) Give chemical equations, wherever necessary,

. 38 9 % Y% s § ur feed Ry mF) wdl Rreen g 3@ ST Sw
gt 1 fefia -
%) fraferfen § 3 e Tow oW w@ w9 A R o
e i)  URREW s oA i) vl faeem
i)  Mfiftr weogs oA iv) ey wieke faere 1
w) feafafs 1 @ w9 sftes scfia g 2
. i) H,O i)  C,H;OH
i) C,H.OH iv) CH,OCH, 1
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. ) ¥ HCl+fi§g zncl, i) Pd+BaSO,

i) W3 HCl+ffa zncl,  iv) ¥ 8 1 T !
9 wlefeerss i w4 R % fag s st 3

i)  Teast sfywds iy fre srfieedes

i) eyerE e iv) 390 A wig 48l 1
3) A o ol e i e A 3 2 o

) CHyNH, i)  CH,CH,NH,

iify  CH4NHCH, iv)  CgHgNH, 1
) feim ad = E a0 2

i) 3TERAT i) = m

ili)  TgEH iv) wﬁzﬂ 1

1, Four alternatives are given in each part of this question. Se]ect the

correct alternative and write it in your answer-book :
a) Which of the following has lowest osmotic pressure ?

i) Potassium chloride solution ¢ |

ii) Gold solution

ii) Magnesium chloride solution

iv) Aluminium phosphate solution - 1
b) Among the following, which is more acidic ?

i)  H,O « - i) CgH,OH

iii) C,H,OH iv) CH;0CH,
c) Lucas reagent is

1) conc. HCl + anhydrous ZnCl, <

ii) Pd + BaSO,
iij}  dil. HCl + anhydrous ZnCl,

iv) none of these
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Appropriate reagent used to distinguish between acetaldehyde and

acetone is

d)

i) Hinsberg reagent ii) Schiff’'s reagent »

iiij  Lucas reagent iv) none of these 1
Which of the following amines does not give carbylamine reaction ?

i)  CHZNH, i)  CH,CH,NH,
i)  CH,NHCH, « iv)  CgHsNH,
f) Deficiency of Vitamin A causes
i) anaemia ii) skin disease
1ii) sterility iv) nightblindncss '
2. ®) 20°C T el vef F 45 am why efter frea H1 WO G 3-2 FIEAEA
21 e Ry % W ) o Fif) v 1 S FEEE 3421 2

@) 298 K W 0-20 M KCl e 1 it 00248 S cm ' 1 FEH HIH

1

Teehe FTa shiferm) | 2
M) sﬁﬁﬁiﬁaﬁfi‘m%m%ﬁw%ﬁm&m'ml 1+1
y) Feafafee difet & m.q@od, mm fafee 1+ 1

i)  CH,CH(CH,)CH,CH,CHO
iij CH,COCH,COCH,

At 20°C the osmotic pressure of 45 gm per litre solution of a

2 a)
substance is 3-2 atmosphere. Calculate the value of solution
constant. The molecular mass of the substance is 342. 2
b) At 298 K conductivity of 0-20 M KCI solution is 0:0248 8§ em”™.
Calculate its molar conductivity. | 2
c) Write the units of velocity and velocity constant for zero order
reaction. 1+1
d)  Write LU.P.A.C. names of the following compounds : 1+1
i) CH3CH(CH3)CH2CHQCHO
1i) CHSCOCH2C0CH3
[ Turn over
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The velocity of a gaseous reaction is halved, whereas the volume 02f
the pot is doubled. Calculate the order of reaction.

Write two characteristic properties of transition metals. 1+1
Identify (A} and (B) in the following reactions : 1+1
P,0O, 4 [H]
C 25 -
H3CONH, —2=2— (A) Sn/HCT (B)
2

What is nucleic acid ? Write its two important functions.
forelt wom iR it s & fore fog Hifir % 374 arfirfshan &1 of F
T A T I AE-AH H S T D 2l 3
e v § 39 JeE 33 gu SRE A % e B Gy 3

frafafea & 1-sEiege Tga @ I TaRS qHiw fafag
1+1+1

(i) 1-9Te, (ii) 1-FAASLA, (idi) 3e-1-871

@Qﬁﬂﬁaﬁﬁﬁmwﬂamﬁﬁm%mnﬁaﬁmﬁﬁmm]m%
9l Br, 741 KOH & &Y T F W I CoH,N aren A (C) s
21 (A), (B) 71 (C) Mt it T=T @ w7 W fafawy * 3
For a first order reaction, prove that the time taken in completion
of 3/4 part of the reaction is two times that of its half-life period. 3

Explain the importance of complex compounds in qualitative |
analysis with suitable example. 3
Write the chemical equations for the preparation of 1-iodobutane |
from the following : 1+1+1

(i) 1-butanol, (ii} 1-chlorobutane, (iii) But-1-ene,
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d) An aromalic compound (A) 0N trecatment with aqucous ammonia

and hcating forms compollﬂd (B) which on hcating with Br, and

KOH forms a compound (C) of the molecular formula C H-N. Write

the structures and names of the compounds (A), (B) and (C) 3

5. ®) FAFd KMno, fyomm fFE TER () B GRS H, () SO, A,
(iii) RT3 & ey (1v) THfeTm arEehe 4 Al e 2 2

1+ 1+1+ 1

@) fafafas & .U pa.c. am fafigu . L+ 1+ 1+
) [Co(NH,),]cl, i) [Ti(H,0))""
i) K,[Ni(CN), | iv)  [Pt(NH;),Cl)]

M) W shafda Sifn _ (Faw goelis afem ffge) 0 141+ 1+ ]
) 1-SNEENE @ 2T § 2
if)  2-SHINT W ST | 2
i) FARNE B eRhE § 2
iv) FARENT Y Fe o 2

9)  T[hiE hl T hive g AUl n-deen 1 frm weer afafde Hifwon o
e Tariie gt frRgn) 2+ 2

5. a) How does the acidified KMnO, solution react with (i) ferrous
sulphate, (ii) SO,, (iii) oxalic acid and (iv) sodium thiosulphate ?

1+1+1+1
b) - Write LU.P.A.C. names of the following : 1+1+1+1
o i [Co(NH,),|Cl, i) [Ti(H,0),]
i)  K,[Ni(CN), ] wv) | Pt(NH3}2C12]
c) How will you convert — (write chemical equations only)
1+ 1+1+1
i) 1-bromopropane into 2-bromopropane ?
i) 2-bromopropane into 1-bromopropane ?
iiij  Chlorobenzene into Diphenyl ?
1v) Chlorobenzene into Phenol ?
d) How will you convert glucosc in{to glucose phenyl hydrazonc and
n-hexane ? Write chemical equalions only, 2+2
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( K, = 0-52 kg mol-! , Bacl, # Aol U = 208-34)
et -
NaCl F1 1-2% Rreras g % 7-2% few % gomad @1 NaCl ferer
& 19 BIS TUTTes &1 TRy $iful S5
@) Frefaned sffemst 3 s afeds S am ffgg: 1+ 111
i) EHT 1 2,4,6-2TesmrEma 3 SHAA
i) ST TeRiEd ¥ Sites apd B UREdd
i)  WUA-2-37 & W § e
v)  Se-2-3 § -2~ § i
v) ST oTE &1 Hreieniors st H AT
HUan .
fraferfaa ot wfm oo fifeg . 2} + 2}
1) e afurfsean
i)  fafomres gveryom
6. a) An aqueous solution containing 12-48 gm of barium chloride in

1-0 kg of water, boils at 373-0832 K. Calculate the degree of
dissociation of barium chloride. (K, = 0-52 kg mol~!, molar mass of

BaCl, = 208-34 ) 5
. OR |
1:2% NaCl solution is isotonic to 7:2% glucose solution. Calculate
the van't Hoff factor for NaCl solution. | 5
b) Name the reagents used in the following reactions : o

I+1+1+1+1
i) Bromination of phenol into 2, 4, 6-tribromophenol
ii) Conversion of benzyl alcohol into benzoic acid .
iiij  Dehydration of propan-2-ol into propene
iv)]  Conversion of butan-2-one into butan-2-¢]
V) Oxidation of primary alcohol into carboxylic a¢iq.
OR
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Write shor

L notes on the following :
i R - . 21 e |
) Cimer-Tiemann’s reaction o

ii Willi
) liamson’s synthesis.

&) @ﬁ%%@ﬁ@ﬁqﬁqﬁqﬁﬁa%%omoaoﬁﬁmﬂﬁﬁu;

CulCu™(1M) | Ag*(1m)| Ag

EOCu2+/C =+0.34 e, E° =+0-80 dlee
u Ag*/Ag
| e
e F9 ¥ g wmw e R 101 diee 81 Frafofaa sl &
fore ares firsm st ) Ry A S

Zn(s)+ Cu®(aq) — Zn?*(aq) + Cu(s)
@) 9 BT & 99 — (Fae qaEfe e fafee) J+1+1+1+1
Sfowam TR T SfewEm wniz & fiye w1 = srwEd fha

Ei
wheln B TR H,80, % ara s R o @ ?

St % @iy vl Y &R ) Sty o w ey e @ 2

) s o ) e R % w e wa ¥ 0 |
v)  wrifesase # NaOH & Hiw: feraq % &1y i fomn e @ 2

AUu4an
freferfga =1 a9ase 12
) g g
i) wRbma arffe
iii) s ke s
[ Turn over
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7. a) Calculate the e.m.[. of the following ccll writing the cell reaction :
S
Cu|Cu®(1M) " Ag*(1M)| Ag
RO . - 10- ¢ g0 = +0-80 volt.
cutjey =034 volt, B L .
OR
The standard electrode potential of Daniel cell is 1 1 volt. Calculatc
the standard Gibbs energy for the following rcactlon 5

Zn(s)+ Cu2+(aq) — Zn2+(aq)+ Cu(s)
b) What happens when — (write chemical equations only)

1+1+1+1+1

i) Mixture of calcium acctatc and calcium formate is dry
distilled ?

i) Acetone is distilled with conc, H,S0, ?
iij)  Acetone is heated with chloroform in presence of alkali ?
v)  Formic acid is heated with Fehling’s solution ?
v) Formaldehyde is heated with conc. NaOH solution ?
OR
Explain the following : _ I+2+2
i) Benzoin cendensation |
i)  Perkin’s reaction

iil)  Cross Cannizzaro reaction.

347(GD)-2,58,000



